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 ا ولا��!"�  

� ا���� ��ن ا��!���"�  :' ا� ��� &%ـ#� ا��� 


�	 ا� �ا��ات &!+��% .-�
ذ ��P+ة  - �� ∆����4 ���واران �3ل &�1ر R=10cm,r=2cm  �ه
7 ��+ &% &+آ�ه�5�� .
  . J∆ه� ���=>�� �;:ا ا���1ر �م �94ره� 
- �<?� %��@�% S1  وS2   � ا� �ا���آ 	�
 ��  : ه
 m =3kg M =5kg, ود��&�B�C� %%� +�D ���4%� E� ه�آ �  & �اد�� ;&�  )ا�G+ ا���'(  �ن�

��I�� �
+J ون�� �
��!�
=� ا� �1+را���G1t1  K<!ا� L�B=�#2 S  
%&  N���
=� �A	  ا�=�BP إ��B   '9ا�  �Q1ا��t2  �
+<�VA=0.3m/s   

  'P =� %�3 �#S1 �1 ا�R '�J %& B’  	إ� A’  )���  )�- �+ ا�3 ��آ�ت  &;
  �S��1 -g=10Nkg =30° ;α  
 %���BA  ل�P ا�S2 وB’A’ ل�P ا� S1   7�3      BA=40cm   

   
1-1 	�
 �P�B� S1 وS 2و  Pا���+ة  آ' &% ا?+د ا��Pى ا�

  ’B’A وV  BA ا�-K�=    %�� �4E اK<!�� ��BC S2J �و ا�>+
� ا� ���K<!�� ��BC S1% ا�>+
� ا� ا�-�4E او?�1-2 


X� Y &�+ه=� ا��4�B ا�1+آ��ا 3-1  
1-4� 4�Bه=� ا�+�& L��B ة�. Z<3ا�1+آ�� ا �+��[�  Y�C2 ا�'T  ��
 K<!ا�S2  K�   ة�.  +��[�Y�C1 ا�'T
 ��K<!ا�S1   

 نأ��4�B ا�1+آ�� 
�� ا���+ة ��% ا � L��B &�+ه=�1-5
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 )T1  ى ا���+ة+!� ).rه� ���+ ا�Y�C ا���ر ����!+ى ذي ا��-�ع  T2و  Rذي ا��-�ع ه� ���+ ا�Y�C ا���ر �

    2 � �=
 K<!ور ا�+& �G1S2 ا� %&�N�� A   Y�Cا� NBP �  K<!��� Y��+�  . S2 ا�
   �4A' ان  � �4` ا��4EB &% ا����BP�S2    N-;� ا�!>�3J  Kد ا��>�#� ا� �   2-1
2-2    K<!4` ا��� �=
S2    ار�����a Lل ا�=�CABD E�& +آ��ا  YCا� L#ا. و  K<!ا� �
+J Z<3S2  =

�د�[ إ�	 � 

 N���    B ا�

�� ا���ار  �9�S2[ ا�!>J Kي :ر���ع ا��ا�4�� �3د   2-3BD 

�+ا�    3 <� Y�Cا� NBP� �=
  &� �c�9 �+دده��
=، و   S1 ا�Y�C ا��+��K<!��� Y ��+ ]7 ��1وران �+ة #� ا���
N=150tr/min  � L�B

% ا�3 ��آ�ت �	 ا���+ة &�دو?� �4ى  �!��� �;&�
CM =��� �1ر ا��وران�� ��< d�3 ، 	P��

    .ا�>+
� ا��او�� ��وران ا���+ة ��5 �
1-3 Z<3اCM . 


=� و@�2-3K<!ل ا�  ( 1S ا� � �� +ض أن �71 �]�5+ ا�3 ��آ�ت  � �4` ن أدورة n   '�4  رض �=!� ا���+ةRا ا�	   (
��Pر�� &��� +�f � K� �1 ا��وران�� ��<=��� �;&�
N  �!� �L��<ال ا�g<3ا  .ا� Z<دا��- n. 

  ا�"!��
 ا�"�$#

;�  ،!��>��BJا�� & أ ���+  1�-.r=0.5m  �; � و آ M=20kg  ���4� 1، ��7 ���5وران �3ل  &�1ر& �BJك �4ر�[  +��اp=2kw  

 �ω=21rad/s و�ا��ا �
+�BJا�� &% ا�>��ن ا�	 ا�>P=R' ا ز&� � �E ا���ة ا��&=�� ا�ه&� 1-1
 1-2    Z<3ا�ا��&% a+ف ا��1+ك ESل ه:k ا���ة�f' ا�!=  

  �ءــــــــ�ـــ!ــ�ــا�%
  ا�"!��
 ا ول 

��[ Rت ا�آ�+�   :�����%Rاا��+آ��%  �- �+           �     f�@ (  AlCl3) [��م =&�رر ا���و آ�  f( Al2(SO4 )3,7H2O ) [ �@ ��&�=��م ا�
  +آ��%�% ا�ّ�ذ�اآ Z ا��-�د�� ا��������I  �:وا��ن ه  -1  

2   -���1& +Q1� S  ت ا� �+���R ]��� #� ا���ء ا�X��C ���91ل 
�	ا ا��+آZ :&% ه  mذا�� آ �� n�o �ذو��&=��م  ا�
� &��1ل!3] V=150mL و k�   �CM=7.4.10-2mol/L+آ�

�4��  ا� +آ��ا�� �� �����1ل  1-2           V = Jا K� Zآ+�  اZ<3 آ �� ا�
  اZ<3 ا� +اآ�� ا��-��� ا���?�دة #� ا����1ل2-2
اZ<3 &% ?��� ا� +اآ��  .� � V+�f و�- �+ ان ا�K!1  % آ��رورا���&�=�م& m’=50gآ ��   �QS` ا�	 ا����1ل�3-2

�?�� ة #� ا����1لدا������ ا��-��� ا�
 �B-� :M(Al)=27g/mol   ;   M(Cl)=35.5g/mol ;  M(O)=16g/mol   ;  M(H)=1g/mol ; M(S)=32g/mol    
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  �$#ا�"!��
 ا�&
   Yf� 715bar 1ـآ��� &% ا�;�اء � 
�	 J ��60mL- ;�ذ��� #=4=��1 �ي             

  ط��آ+ ����Pن ���' &�رذ -1

=� ��r  [ي ���% اK!3 �&@EC J ا�;�اءا�: -2 �=�=Pد&% ا�Yf� 711ر?� ا�1+ارة و�bar   
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